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7 MR 12B 1A 2B 38 48 5B 6A 1A 8B 9A 10A 118
3HARIEDL®E | -43 -114 -332 -169 2.1 50 78 5.7 79 115 5.7 9.9 0.7
BEOESRY -130 -137 -134 -149 -79 -51 -71 -64 -29 -72 -43 -43 -13
3HAKXORBEL | -266 -100 -4.2 49 -07 137 85 14 101 8.6 29 -43 -65
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"mA 12 1A 28 3A 48 58 6A 7R 8A 9A 108 118
X 4 R44E R54E
7 1A 12R 1A 28 38 48 5B 68 7B 8B 9A 108 117
3HARIE DL 26 -90 -359 -273 -77 -52 -51 -26 -26 -9.1 3.9 90 117
HEQELRY -120 -143 -143 -145 -78 -105 -130 -130 -79 -143 -66 -52 -53
3hA%XDRBEL | 171 -51  -13 39 -13 104 5.1 00 117 182 78 -51 -18
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RENDESRY -12.5 0.0 0.0 0.0 00 125 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3HAXDREEL | -125 00 -250 -125 -375 250 125 125 125 125 -125 125 125
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3AAMEDEE | 227 -381 -455 -364 -200 -48 -48 143 375 250 -95 -48 -105
RENEERY -227 -190 -27.3 -273 -150 -95 -95 0.0 00 -50 -190 -19.0 -21.1
3HALEDRBL | 455 -333 -455 -136 -100 95 -48 -95 125 00 -48 -95 -158
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3HAREDLE | -12.1 00 -143 143 324 394 471 176 235 500 235 265 -20.6
RENEERY -91 -121 -57 -114 -59 6.1 5.9 2.9 5.9 5.9 8.8 59 -59
3HAEMRBL | -394 -91 200 229 147 212 235 88 147 -88 00 -29 -29
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